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Unit 4: Test #2

Review Sheet

Formulae: Write the following formulas, and the UNITS each is measured in:

Work:

Power:

Mechanical Advantage:

Efficiency: 

Ideal Mechanical Advantage (IMA) (Lever): 

IMA: Wheel and axel: 

IMA: Incline plane:

Calculate the following: 

1. What is the IMA of a car’s steering wheel if the wheel has a diameter of 40 cm and the shaft has a diameter of 4 cm

2. A lever has an IMA of 4. If the output arm length is 1 m, what is the length of the input?

3. A 6 m ramp runst from a sidewalk to a porch that is 2 m above the side walk. What is the IMA of this ramp?

4. Calculate the mechanical advantage of a hammer if the input force is 125N and the output force is 2000N

5. What force is needed to lift a 2,000N weight using a machine with a mechanical advantage of 15?

6. A machine does 760J of work in 36s. What is the machine’s power?

7. Using a ramp that is 6m long, workers appley an input force of 1,250N to move a 2,000N crate onto a platform 2m high. What is the ramp’s efficiency? 

 Draw a diagram of a 2 pulley system. What is the mechanical advantage of the system? 
Draw each of the 3 types of levers. Label the input/output forces and the fulcrum for each type:  

